THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JANUARY 16, 2019

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on January 16, 2019 at 6:30 p.m.

Members present: William F. Connors Jr., President

Irene Gische, Vice President Deanna Bavlnka, Trustee

Inger Germano, Trustee – as of 6:35 p.m.

Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee

Members absent: All were present

Also present: Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Lauren Walters, Student Representative to the Board

Visitors

CALL TO ORDER Mr. Connors called the meeting to order at 6:30 p.m.

MOVE INTO EXECUTIVE SESSION On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and negotiations.

RECONVENE INTO PUBLIC SESSION The meeting reconvened into open session at 7:34 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA Replacement Pages

• Item Q.1 – Instructional Personnel - Cover Page

Addenda:

- Item P.1 Approval of Appointment of Interim Principal for R.C. Murphy Junior High School
- Item Q.1 Instructional Personnel Schedule A.5

PUBLIC PARTICIPATION

There was no Public Participation at this time.

MINUTES AND BIDS

Minutes of December 12, 2018 Be it RESOLVED that the Board of Education accept the minutes of the meeting listed, as

presented.

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

BIDS

Bid # B19-001 – Cesspool

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award the following bids, as presented:

Cesspool
Cleaning and
Tank Pumping;

Improvement

ank Pumping; Bid Number Award

Bid # C-2370 – B19-001 Discount Cesspool and Drain Inc.

2018/2019 Capital C-2370 ACL Construction Corp.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

REPORTS

Student Representative Report Lauren Walters reported on various events, including the Career Fair, Cooking for a Cause, and

Regeneron Scholars.

Guidance Program

Report

Linda Bergson Anthony Dattero, and Amy Pouolos presented the Guidance Program report.

ITEMS FOR **BOARD** DISCUSSION There were no Items for Board Discussion.

ITEMS FOR **BOARD ACTION**

2019-2020 School Calendar

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education adopt the 2019-2020 School Calendar, as presented.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Revision to 2018-2019 Appointment of Impartial **Hearing Officers**

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the list that includes additions of eligible impartial hearing officers, submitted by New York State Department of Education, to conduct special education impartial hearings for the 2018-2019 school year.

> Last Name First Name Coles Thomas Heidelberger Jonathan Itzla Amy Joyner Theresa Kandilakis George Keefe Jeanne Kehoe Martin Kestenbaum Elise Lassinger Dora Lazan Michael Lederman Nancy Lushing Susan Marsico Richard McKeever James Millman Tina Monk James Christine Moore Murphy Leah Naun John Nisely Robert Noe Mary Peters Gary Peters Kenneth Peyser Helene Reichel Heidi Richmond Susan Ritzenberg Kenneth Roth Roslyn Schad Jerome Schiff Martin Schiro Jeffrey Schneider Judith Silver Marjorie Tessler Craig Venezia Arthur Walsh James Walsh Marion Wanderman Carl Washington Denise Wolman Mindy Ziev Joel Albert Peter Almeleh Lynn Barbour Susan Brandenburg Wendy Brandow Regina Briglio Robert Cohen Diane Cutler-Igoe Ellen Daniel Audrey Dewan Debra

Barbara

Ebenstein

Farago John
Feinberg Rona
Finkelstein Sharyn
Flame Lana
Gronbach Vanessa
Guerra Jeffrey
Haken Steve

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Health and Welfare Services Contract Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the contract for health and welfare services for the 2018-2019 school year with the following school district:

• West Islip ISD 6 Students at \$895.96 = \$5,375.76

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- New Outdoor Lacrosse/Field Hockey/Soccer Scoreboard donated by Three Village Booster Club to the Three Village Central School District
- A check in the amount of \$8,635.00 from the Setauket PTA to fund Arts-In-Education programs through BOCES.

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District.

Item Description	Model	Serial #	Three Village #	Condition	Location
Mathias Thoma Cello	80	3204	N/A	Poor	Nassakeag- Music Dept
Dishwasher	GSD725X-73WW	MS708509B	N/A	Poor	Murphy JHS- Basement
GE Washer	WCSR20B0B2WW	DD10825IG	20081120	Poor	Murphy JHS- Basement
GE Dryer	DBXR463EB0WW	AD732079A	20081121	Poor	Murphy JHS- Basement
GE Refrigerator	TCX22ZAXAWH	SS020454	004155	Poor	Murphy JHS- Basement
Whirlpool Washer	GCA2781XSWI	CG3902985	20081018	Poor	Murphy JHS- Basement
Whirlpool Dryer	GCE2900XSW4	MG1807143	20081017	Poor	Murphy JHS- Basement
Frigidaire Stove	FFES3025PWA	AF42502042	20130957	Poor	Murphy JHS- Basement
Frigidaire Stovetop	FFEF3018LWG	VF42330420	20130958	Poor	Murphy JHS- Basement
GE Stovetop	JB670DP1WW	LT248995Q	20091111	Poor	Murphy JHS- Basement
GE Stovetop	JBP66W0B4WW	RA192565Q	20081118	Poor	Murphy JHS- Basement
GE Profile Microwave	JVM1350WW002	GS9490575	N/A	Poor	Murphy JHS- Basement
GE Profile Microwave	JVM1350WW002	MS912925S	N/A	Poor	Murphy JHS- Basement
GE Profile Microwave	JVM1350WW002	MS912957S	N/A	Poor	Murphy JHS- Basement
GE Profile Microwave	JVM1350WW002	MS913021S	N/A	Poor	Murphy JHS- Basement
Toshiba TV	27A34	9461D56801E	008059	Poor	Murphy JHS- Basement
Toshiba TV	27A34	9461D5804E	008046	Poor	Murphy JHS- Basement
Toshiba TV	27A34	9461D5803E	N/A	Poor	Murphy JHS- Basement

Toshiba TV	27A33	95248416D	008022	Poor	Murphy JHS- Basement
Toshiba TV	27A33	782338183C	008023	Poor	Murphy JHS- Basement
Toshiba TV	27A34	9461D56812	008060	Poor	Murphy JHS- Basement
Toshiba TV	32A33	94556383	N/A	Poor	Murphy JHS- Basement
Toshiba TV	32A33	94634729	N/A	Poor	Murphy JHS- Basement
Toshiba TV	27A33	78232967C	008029	Poor	Murphy JHS- Basement
Toshiba TV	MW27H62	BAB360051910C	008150	Poor	Murphy JHS- Basement
Toshiba TV	27A33	78232963C	008035	Poor	Murphy JHS- Basement
Toshiba TV	28A34	9461D5790E	N/A	Poor	Murphy JHS- Basement
Toshiba TV	27A33	95248140	N/A	Poor	Murphy JHS- Basement
Toshiba TV	27A34	9461D5794E	N/A	Poor	Murphy JHS- Basement
Toshiba TV	27A33	95248444D	008021	Poor	Murphy JHS- Basement
Panasonic TV	PV-DM2799	L9AA1040R	N/A	Poor	Murphy JHS- Basement
Panasonic TV	CTN25805	AS11050006	13212	Poor	Murphy JHS- Basement
RCA TV	F27632SE	510217323	310940	Poor	Murphy JHS- Basement
RCA TV	X2600SEB	108637206	13442	Poor	Murphy JHS- Basement
RCA TV	F27648	101413747	N/A	Poor	Murphy JHS- Basement
RCA TV	F27650	C5128200A	N/A	Poor	Murphy JHS- Basement
RCA TV	F27649	B446B311H	N/A	Poor	Murphy JHS- Basement
RCA TV	F27650	C512B2010	N/A	Poor	Murphy JHS- Basement
RCA TV	F27648	028524045	N/A	Poor	Murphy JHS- Basement
RCA TV	F27649	B446B311F	N/A	Poor	Murphy JHS- Basement
RCA TV	F27649	B446B3151	N/A	Poor	Murphy JHS- Basement
RCA TV	F27648	043332105	N/A	Poor	Murphy JHS- Basement
RCA TV	F27650	C512B2061	N/A	Poor	Murphy JHS- Basement
RCA TV	F27650	C512B205N	N/A	Poor	Murphy JHS- Basement
RCA TV	32	946332989	323615	Poor	Murphy JHS- Basement
RCA TV	F27649	C114B321V	N/A	Poor	Murphy JHS- Basement
RCA TV	F27648	028524025	N/A	Poor	Murphy JHS- Basement
Cress Electric Kiln	FX-27P	8808	20132072	Poor	Arrowhead-Art Rm

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Textbooks Upon the recommendation of the Superintendent of Schools, be it resolved that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use.

<u>Title</u>	Publisher/Date of Publication	<u>ISNB</u>	No. of Copies
Connected Mathematics Kit Grade 6	2002	013053098	Kit
Investigations Grade 3	N/A	N/A	Kit
SF: Discover the World	Scott Foresman/1993	067342873-7	26
SF: Module A Living things	Scott Foresman/1996	067340152-9	1
SF Explorer's Act Guide	Scott Foresman/1996	067340243-6	2
SF: Module A: Habitats	Scott Foresman/1996	067340157-X	27
SF: Electricity Habitats	Scott Foresman/1996	067340175-8	2

SF: Module F Habits	Scott Foresman/1996	067340207-X	2
SF: Module B Habitats	Scott Foresman/1996	067340203-X	1
SF Module E Shelter	Scott Foresman/1996	067340204-5	3
Everyday Math	McGraw Hill/2012	978007657726	3
Everyday Math	McGraw Hill/2012	978007657720	Kit
Connections	Heath	11910-S/3	1
Math Grade 6	Scott Foresman	032802198-9	3
Connections	1994	066930913-3	1
Math	Scott Foresman/1999	02013685-2	1
Just Listen	Houghton Mifflin/1993	039561086-1	13
Catch a Snowflake	McGraw Hill/1993	002178758-1	5

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Claims Auditor's Report –

Mr. Carlson presented the report.

November 2018

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board accepted the report.

District

Treasurer's Report

- November 2018

Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board accepted the report.

Financial Reports

Mr. Carlson presented the reports.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board accepted the reports.

Extraclassroom Activity

Treasurers'
Reports –
November 2018

Mr. Carlson presented the reports.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board accepted the reports.

Transfer of Funds (Under \$10,000) – November 2018

Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board accepted the report.

Approval of Side Letter Agreement between the Three Village Central School District, the Three Village School

Administrators
Association and
the Employee
Named in
Confidential
Schedule "A"

RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Side Letter of Agreement between the Three Village Central School District, the Three Village School Administrators' Association, and the employee named in Confidential Schedule "A", providing for a modification to the Administrators' retirement incentive, and authorizes the Board President to execute the same.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board accepted the report.

Approval of Appointment of Interim Principal for R. C. Murphy Junior High School RESOLVED that the Board of Education appoints Richard Pulaski as the Interim Principal for the R.C. Murphy Junior High School, commencing on February 1, 2019, at a rate of \$700 per diem, with such an appointment subject to and contingent upon a written agreement being reviewed and approved by District Counsel, and the Commissioner of Education approving and issuing a waiver pursuant to Article 7 of Section 211 of the Retirement and Social Security Law.

Be it further RESOLVED that this resolution may be rescinded and/or such appointment terminated at any time for any reason, by the Board of Education.

On motion by Mr. Kornreich, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board accepted the report.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

<u>Name</u>	School/ Assignment	Effective Date	Date of Hire
Baio, Lisa	Minnesauke Elementary/ Reading Teacher	6/30/19	12/1/86
Casciano, Gail	Nassakeag Elementary Principal	6/30/19	7/1/01
Vizzo, Vincent	Murphy JHS/ Principal	2/1/19	9/1/85

APPOINTMENT TO ADMINISTRATIVE POSITIONS

Pulaski, Richard Interim Principal

SUNY @ Stony Brook - BA

C.W. Post – MS C.W. Post - Professional Diploma in Administration and Supervision Salary: \$700.00 per diem Effective: 2/1/19 - 6/30/19

This is a per diem assignment. This appointment is due to the retirement of Vincent Vizzo. Mr. Pulaski will be assigned to Murphy Junior High School. Mr. Pulaski is a retiree and fingerprint clearance for employment is on file.

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Jayne, Nathan **Guidance Counselor**

> John Hopkins University – BA New York University - MA Previous Tenure - Yes

 $Related \ to \ current \ employee-No$ Salary Step/Level -21/MA+45

Effective: 7/1/18

Mr. Nathan was granted one-year Jarema credit, reducing his four-year tenure to a three-year tenure. Mr. Nathan was previously approved at the Board of Education meeting held on May 15, 2018 with an anticipated tenure date of 7/1/22. Mr. Nathan's revised tenure date is 7/1/21.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITION

Substitute Teachers

Barnes, Emily

Fingerprint clearance has been received.

Blaney, Erin

Ms. Blaney just retired from her administrative position effective January 2, 2019. Ms. Blaney has asked to be added to the substitute teacher list.

Fingerprint clearance is on file.

Burker, Andrea

Fingerprint clearance has been received.

Carey, Bridget

Ms. Carey has been approved by Ms. Pedisich for emergency appointment effective 1/14/19. Ms. Carey is the sister in law of Robin Carey, a speech teacher at Setauket Elementary School. Fingerprint clearance has been received.

Coleman, Richard

Fingerprint clearance has been received.

Mannix, Karalyn

Fingerprint clearance has been received.

Silverman, Melvin

Mr. Silverman is the father of Nicole Kinney, teacher at Mount Elementary School. Fingerprint clearance has been received.

Soler, Eric

Fingerprint clearance has been received.

Substitute Teaching Assistant

Pav, Brooke

Ms. Pav is currently a substitute monitor and has asked to be added to our substitute TA list. Fingerprint clearance is on file.

Toto, Jennifer Ms. Toto resigned from her SEA position at Gelinas effective January 11, 2019 and has asked to be added to our substitute TA list. Fingerprint clearance is on file.

APPOINTMENTS OF SPRING COACH POSITIONS

<u>Last</u>	<u>First</u>	Building	Assignment	Effective	Step	Year	<u>Total</u>	Stipend
<u>Name</u>	<u>Name</u>					<u>at</u> Step	Years	
Arizmendi	Kristina	Gelinas	Gymnastics 7/8	SPRING	1	2	2	\$4,230.00
Boltrek	Chris	WMHS	Varsity Boys/Girls Shared Winter Track Asst.	SPRING	2	1	3	\$6,116.00
Burger	Joseph	WMHS	Varsity Softball	SPRING	3	2	6	\$6,926.00
Buys	Megan	Gelinas	Softball Coach 7/8	SPRING	2	1	3	\$4,369.00
Crasa	Caryl	Murphy	Gymnastics 7/8	SPRING	3	26	30	\$4,504.00
Crowley	Kaitlyn	WMHS	Varsity Softball Asst.	SPRING	1	1	1	\$5,922.00
DeLuca	Ryan	WMHS	Varsity Boys Track & Field	SPRING	2	1	3	\$6,719.00
DiBernardo	Tara	WMHS	JV Girls Lacrosse Assistant	SPRING	3	1	5	\$6,305.00
Dion	Jean Pierre	WMHS	Varsity Girls Track & Field	SPRING	3	7	11	\$6,926.00
Fernandes	Charles	WMHS	Varsity Boys Badminton	SPRING	3	4	8	\$6,926.00
Ferraro	Kurt	WMHS	JV Boys Lacrosse	SPRING	3	30	34	\$6,305.00
Giannelli	Matthew	Gelinas	Boys Track & Field 7/8	SPRING	2	1	3	\$4,369.00
Glasheen	Rich	WMHS	Varsity Girls Golf	SPRING	3	13	17	\$6,243.00
Hoppey	Michael	Gelinas	Boys Lacrosse Assistant 7/8	SPRING	3	32	36	\$4,504.00
Kilkenny	Kerri	WMHS	Varsity Girls Lacrosse	SPRING	3	17	21	\$6,926.00
Klouda	Christine	WMHS	JV Boys Tennis	SPRING	3	2	6	\$6,305.00
Kmiotek- Pereira	Katelyn	WMHS	JV Girls Lacrosse	SPRING	2	1	3	\$6,116.00
Konczynin	Allyson	Murphy	Boys Tennis 7/8	SPRING	3	3	7	\$4,504.00
Kost	Maureen	Gelinas	Boys Tennis 7/8	SPRING	2	1	3	\$4,369.00
Lorenzen	Jennifer	Gelinas	Girls Lacrosse 7/8	SPRING	3	8	12	\$4,504.00
McNamara	Brendan	Gelinas	Boys Lacrosse 7/8	SPRING	3	11	15	\$4,504.00
Melfi	Louis	Murphy	Girls Track & Field 7/8	SPRING	1	1	1	\$4,230.00
Mulvihill	Ken	Gelinas	Baseball Coach 7/8	SPRING	1	2	2	\$4,230.00
Murphy	Chris	WMHS	Varsity Assistant Boys	SPRING	3	12	16	\$6,305.00
Muscarella	Chris	WMHS	Lacrosse JV Boys Lacrosse Asst.	SPRING	3	2	6	\$6,305.00
Negus	Jay	WMHS	Varsity Boys Lacrosse	SPRING	3	6	10	\$6,926.00
Neuberger	John	Murphy	Boys Lacrosse 7/8	SPRING	1	2	2	\$ 4,230.00
O'Shaughn essy	Brian	WMHS	Varsity Girls Badminton	SPRING	2	1	3	\$ 6,719.00

Perfetti	Jeff	Murphy/ Gelinas	Boys/Girls Swimming 7/8	SPRING	2	1	3	\$4,369.00
Petrucci	Lou	WMHS	Varsity Baseball	SPRING	3	9	13	\$6,926.00
Petruzzi	Dan	Murphy	Boys Lacrosse 7/8 Asst.	SPRING	2	1	3	\$4,369.00
Piccirillo	Alex	WMHS	JV Baseball	SPRING	2	2	4	\$6,116.00
Rippe	Claudia	Gelinas	Girls Track & Field 7/8	SPRING	3	4	9	\$4,504.00
Schnettler	Garrett	Murphy	Baseball 7/8	SPRING	2	2	4	\$4,369.00
Schwalje	Lauren	WMHS	Varsity Girls Lacrosse Assistant	SPRING	1	1	1	\$5,922.00
Shay	Stephanie	Murphy	Girls Lacrosse Assistant 7/8	SPRING	1	1	1	\$4,230.00
Sussin	Erick	WMHS	Varsity Boys Tennis	SPRING	3	9	13	\$6,926.00
Tavitian	Michael	Murphy	Boys Track & Field 7/8	SPRING	1	2	2	\$4,230.00
Athletic Super	rvision							
Aponte	Michelle	District	Athletic Supervision	2018- 2019				
Supervision R	late:	\$28.47 /hr	prior to 6:00 p.m	l.				

\$42.71 /hr after 6:00 p.m. and on days school is closed

Scoreboard Timer: \$109.37 p. contest

All other times/scorers receive supervision pay rate

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	<u>Effective</u>	Stipend	Not to Exceed
Williams	John	WMHS	Carpenter, WMHS Musical, Momma Mia	2018-2019	\$1,000.00	\$1,000.00
Suesser	Mark	WMHS	Carpenter, WMHS Musical,	2018-2019	\$1,000.00	\$1,000.00
Ayala	Michael	WMHS	Momma Mia Pit Musician, WMHS Musical, Momma Mia	2018-2019	\$700.00	\$700.00
Portugal	Mark	Gelinas	Theatre Arts- Orchestra Pit	1/16/19-3/23/19	\$1,200.00	\$1,200.00
Sabatello	Ray	Gelinas	Theatre Arts- Orchestra Pit	1/16/19-3/23/19	\$1,200.00	\$1,200.00
Kozlowski	Edward	Gelinas	Theatre Arts- Orchestra Pit	1/16/19-3/23/19	\$1,200.00	\$1,200.00
Rottkamp	Jason	Gelinas	Theatre Arts- Orchestra Pit	1/16/19-3/23/19	\$1,200.00	\$1,200.00
DeRosa	Mike	Gelinas	Theatre Arts- Stage Manager	1/16/19-3/23/19	\$2,000.00	\$2,000.00
Hein	James	Gelinas	Theatre Arts- Lighting and Sound	1/16/19-3/23/19	\$2,000.00	\$2,000.00
Kostis	Dean	Gelinas	Theatre Arts- Basic Construction and	1/16/19-3/23/19	\$2,000.00	\$2,000.00
Broadhurst	Douglas	Gelinas	Art Design Theatre Arts- Basic Construction and Art Design	1/16/19-3/23/19	\$2,000.00	\$2,000.00
Weiler	Christy	Gelinas	Theatre Arts-	1/16/19-3/23/19	\$2,000.00	\$2,000.00
Ouzounian	Marisa	Gelinas	Director Assistant Theatre Arts- House Manager/Fund Raising	1/16/19-3/23/19	\$1,000.00	\$1,000.00
Jenkins	Nancy	Gelinas	Theatre Arts- Producer	1/16/19-3/23/19	\$4,000.00	\$4,000.00

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Bayles	Tanya	WMHS	Science Olympiad MIT Invitational, Cambridge, MA	1/11/19- 1/12/19	\$150/night \$300/day	1 night, 1 day	\$450.00

**Ecker	Jean	WMHS	Science	1/11/19-	\$200 night	1 night,	\$550.00
			Olympiad MIT Invitational,	1/12/19	\$350/day	1 day	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
			Cambridge, MA				
**Ms. Ecker v	will be replac	ing Jen Trettner v	who was approved	to chaperone	this event on 12/	12/18.	
**Benson	Dylan	District wide	All-District Music Festival	1/30/19- 2/4/19	\$500.00	Concert and Re- hearsals	\$500.00
**Cinqu- emani	Taryn	District wide	All-District Music Festival	1/30/19- 2/4/19	\$500.00	Concert and Re- hearsals	\$500.00
**Foley	Richard	District wide	All-District Music Festival	1/30/19- 2/4/19	\$500.00	Concert and Re- hearsals	\$500.00
**Jewell	Michael	District wide	Accompanist- various rehearsals and concerts	2018- 2019	\$300/concert (including rehearsals and in- school concerts)	TBD	\$900.00
**Jewell	Michael	District wide	Accompanist- All District Chorus, rehearsals and concert	1/30/19- 2/4/19	\$300/concert including rehearsals	1 concert	\$300.00
**Fingerprinti	ing clearance	has been receive	d.				
Gasparre	Angela	Murphy	LISFA Secondary Festival	1/11/19	\$43.61/hr	8.5	\$370.69
Endres	Lisa	Murphy	Chaperone LISFA Secondary Festival	1/11/19	\$43.61/hr	8.5	\$370.69
Gasparre	Angela	Murphy	Chaperone LISFA Secondary Festival	1/12/19	\$43.61/hr	8	\$348.88
Endres	Lisa	Murphy	Chaperone LISFA Secondary Festival	1/12/19	\$43.61/hr	8	\$348.88
Johnson	Alison	Minnesauke	Chaperone LISFA Intermediate Festival	1/25/19	\$43.61/hr	7.5	\$327.08
Bonich	Melanie	Nassakeag	Chaperone LISFA Intermediate Festival	1/25/19	\$43.61/hr	7.5	\$327.08
Gasparre	Angela	Murphy	Chaperone LISFA Intermediate Festival	1/25/19	\$43.61/hr	7.5	\$327.08
Endres	Lisa	Murphy	Chaperone LISFA Intermediate Festival	1/25/19	\$43.61/hr	7.5	\$327.08
Caldwell	Julianna	Murphy	Chaperone LISFA	1/25/19	\$43.61/hr	7.5	\$327.08
			Intermediate Festival Chaperone				
Gasparre	Angela	Murphy	LISFA Intermediate Festival	1/26/19	\$43.61/hr	7	\$305.27
Endres	Lisa	Murphy	Chaperone LISFA Intermediate Festival	1/26/19	\$43.61/hr	7	\$305.27
Cooley	Laura	Nassakeag	Chaperone LISFA Intermediate Festival	1/26/19	\$43.61/hr	7	\$305.27
Bonich	Melanie	Nassakeag	Chaperone LISFA Intermediate Festival	1/26/19	\$43.61/hr	7	\$305.27
Caldwell	Julianna	Murphy	Chaperone LISFA Intermediate Festival	1/26/19	\$43.61/hr	7	\$305.27
Mayernik	Suzanne	District Wide	Chaperone LISFA Nurse	1/25/19	\$50	7	\$350.00
Gonzales	Denise	WMHS	LISFA Nurse	1/26/19	\$350/weeke nd day	1 day	\$350.00

Weiler	Christy	Gelinas	Accompanist for Spring Concerts at Gelinas	5/22/19 (2 concerts) 5/23/19, 5/30/19	\$150/concert	4 concerts	\$600.00
Weiler	Christy	Gelinas	Accompanist for Winter Concerts at	12/17/19	\$150/concert group	2 concerts	\$300.00
Contino	Linda	WMHS	Gelinas Chaperone/Ov ernight NAfMEAII- Eastern Pittsburgh	4/4/19- 4/7/19	\$150/night \$300/day	3 nights, 2 days	\$1,050.00
Broadhurst	Doug	Gelinas JHS	Science Olympiad Sat/Holiday Practice	11/1/18 - 6/1/19	\$43.61/hr	22	\$959.42
Ouzoinian	Marisa	Gelinas JHS	Science Olympiad Sat/Holiday Practice	11/1/18 - 6/1/19	\$43.61/hr	24	\$1,046.64
Riechoff	Daniel	Gelinas JHS	Science Olympiad Sat/Holiday Practice	11/1/18 - 6/1/19	\$43.61/hr	24	\$1,046.64
Marotta	Christop her	Gelinas JHS	Science Olympiad Sat/Holiday Practice	11/1/18 - 6/1/19	\$43.61/hr	50	\$2,180.50
Cutting	Beverly	Gelinas JHS	Science Olympiad Sat/Holiday Practice	11/1/18 - 6/1/19	\$43.61/hr	50	\$2,180.50
Pennega	Dennis	WMHS	Digital	Spring	\$20/hr	12	\$240.00
Kelly-	Anne	WMHS	Photography Do the Write	2019 Spring	\$40/hr	10	\$400.00
Edmunds Toga	Linda M.	WMHS	Thing A Trust or a	2019 Spring	\$20/hr	3	\$60.00
			Will: Which is Right for you?	2019			
Treacy	Daniel	WMHS	Addressing Long-Term Care	Spring 2019	\$20/hr	1	\$20.00
Yantz	Patricia	WMHS	Colored Pencil and Pastel Techniques	Spring 2019	\$20/hr	10	\$200.00
Yantz	Patricia	WMHS	Exploring Painting Techniques	Spring 2019	\$20/hr	10	\$200.00
Quattrone	Anthony	WMHS	Woodcarving: Ornament & Figure Carving	Spring 2019	\$20/hr	16	\$320.00
Napoli	Frank	WMHS	Woodcarving for the Beginner and Novice	Spring 2019	\$20/hr	16	\$320.00
Bartunek	Alberta	WMHS	Crocheting-	Spring	\$20/hr	6	\$120.00
Mordente	Arlene	WMHS	Beginners Intermediate	2019 Spring	\$20/hr	8	\$160.00
MacDonagh	Christine	WMHS	Crocheting Pastel	2019 Spring	\$20/hr	12	\$240.00
Caiati	Debbie	WMHS	Portraits Mah Jongg	2019 Spring	\$25/hr	16	\$400.00
Rogers	Ken	WMHS	Gardening	2019 Spring	\$20/hr	14	\$280.00
	Arlene	WMHS	Basics Machine	2019	\$20/hr	16	\$320.00
Rogers			Quilting	Spring 2019			
Holmes	Jeanette	WMHS	Japanese Knitting Sampler Scarf	Spring 2019	\$20/hr	20	\$400.00
Gerard	Maria	WMHS	Spanish for the Traveler -	Spring 2019	\$25/hr	18	\$450.00
Gerard	Maria	WMHS	Level I Spanish for the Traveler -	Spring 2019	\$25/hr	18	\$450.00
Weilbacher	Eileen	WMHS	Level II Protect your Brain, Memory, Neurological System (cutting edge, updated info	Spring 2019	\$20/hr	10	\$200.00
Cheeseman	Ellen	WMHS	included) Country Western Line Dance- BeginnersPlus	Spring 2019	\$180 flat fee	16	\$180.00

**White	Martin	WMHS	Country Western Line Dance- BeginnersPlus	Spring 2019	\$180 flat fee	16	\$180.00
Galante	it permits, Mi Frank	WMHS	teach this course. Tai Chi	Spring	\$20/hr	4	\$80.00
				2019			
Infante	Sharon	Mount	China-India Yoga/Tao Yin/Hatha Yoga & Meditation	Spring 2019	\$20/hr	9	\$180.00
Cotty	Hugh (Jim)	WMHS	Volleyball- Bump, Set, Spike!	Spring 2019	\$30/hr	15	\$450.00
Infante	Sharon	Mount	Qigong/Chi Kung & Meditation	Spring 2019	\$20/hr	9	\$180.00
Infante	Sharon	Mount	Qigong: Exercise for Neck,Shoulde r, Back Pain, & Arthritis	Spring 2019	\$20/hr	9	\$180.00
Schindler	Lisa	Gelinas	Pickleball	Spring	\$25/hr	20	\$500.00
Morton	Linda	WMHS	Zumba	2019 Spring	\$20/hr	10	\$200.00
Wasileski	Andrew	WMHS	Badminton	2019 Spring	\$20/hr	20	\$400.00
Wasileski	Andrew	WMHS	Volleyball-	2019 Spring	\$20/hr	12	\$240.00
Mazeau	Sue	Setauket	Competitive Aerobics-	2019 Spring	\$30/hr	20	\$600.00
Mazeau	Sue	Setauket	Afternoon Aerobics-	2019 Spring	\$30/hr	20	\$600.00
**Melore	Peter	WMHS	Evening Chaperone for	2019		2 nights	\$1,500.00
Weidle	reiei	WMIIS	Girls Varsity Cheer Team- National Championship in Orlando,	2/7/19- 2/11/2019	\$200/night + \$350/day	2 nights 4 days	\$1,500.00
**Berry	Rose-	Murphy	FL Reading	12/18/18-	\$25.00/hour		\$900.00
**Casadei-	anne Daniela		Enrichment Italian Is	3/29/19 12/8/18-	\$25.00/hour		
Berwind	Dameia	Murphy	Fun/Italian Is Fun II	3/29/19	\$25.00/110ur		\$450.00
**Conlon	Toni	Murphy	Sweet Tooth	12/8/18- 3/29/19	\$40.00/hour		\$1,440.00
**Gitter	Marilyn	Murphy	Creative Writing/	12/8/18- 3/29/19	\$30.00/hour		\$810.00
**Gould	Patricia	Murphy	Scrabble Time Assistant	12/8/18-	\$15.00/hour		\$700.00
**Hammer	Veronica	Murphy	Registrar	3/29/19 12/8/18-	\$38.68/hour		\$200.00
**Kain	Bonnie	Murphy	Assistant	3/29/19 12/8/18-	\$15.00/hour		\$700.00
**Masrour	Cathy	Murphy	Substitute	3/29/19 12/8/18-	\$50.00/hour		\$450.00
**Matzelle	Denise	Murphy	Instructor On-Site	3/29/19 12/8/18-	\$35.00/hour		\$1,600.00
**Peck	Maureen	Murphy	Supervisor Card	3/29/19 12/8/18-	\$35.00/hour		\$1,000.00
			Making/Scrap booking	3/29/19			
**Rhodes	Deborah	Murphy	Fun Food Arts & Holiday Crafts	12/8/18- 3/29/19	\$25.00/hour		\$900.00
**Sando-	Anthony	Murphy	Sports and	12/8/18-	\$25.00/hour		\$700.00
menico **Savage	David	Murphy	Games Lego Robotics	3/29/19 12/8/18-	\$50.00/hour		\$1,800.00
**Schaen-	Jeff	Murphy	KEVA Planks	3/29/19 12/8/18-	\$50.00/hour		\$1,800.00
tzler **Schoettl	Linda	Murphy	Yoga for Kids	3/29/19 12/8/18-	\$25.00/hour		\$700.00
**Seydel	Therese	Murphy	Assistant	3/29/19 12/8/18-	\$15.00/hour		\$700.00
**The above S	Saturday Enri	chment appointm	nents were BOE ap	3/29/19 proved on 11/	/14/18 with a cle	rical error in	the dates.
Mr. Sandomer Eggleston	nico's rate is Hui Jing	also corrected. district wide	Translating before/after	2018- 2019	\$51.01/hr	25	\$1,275.25
Gerard	Maria	district wide	school Translating before/after	2018- 2019	\$51.01/hr	25	\$1,275.25
Eggleston	Hui-Jing	district wide	school Translating during the	2018- 2019	\$60/hr	25	\$1,500.00
Gerard	Maria	district wide	school day Translating during the school day	2018- 2019	\$60/hr	25	\$1,500.00
			,				

Russo	Stacey	Gelinas	ENL Instruction	2018- 2019	\$56.75/hr	75	\$4,256.25
Zambujiero	Megan	Setauket	Mystery Unit of Study	11/14/18- 1/9/19	\$49.07/hr	8	\$392.56
Negus	Amanda	Setauket	Mystery Unit	11/14/18-	\$49.07/hr	6	\$294.42
Cocco	Debora	Setauket	of Study Mystery Unit	1/9/19 11/14/18-	\$49.07/hr	6	\$294.42
Severino	Dawn	Setauket	of Study Mystery Unit	1/9/19 11/14/18-	\$49.07/hr	6	\$294.42
Knox	Betsy	Murphy	of Study Google Tips	1/9/19 11/28/18-	\$49.07/hr	8	\$392.56
McGuire	Sue	Murphy	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
Hughes	Julie	Murphy	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
Propper	Kim-	Murphy	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
Tavitian	berly Michael	Murphy	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
Strub	John	Murphy	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
Martellaro	Brenda	Murphy	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
	Dawn	1 7	and Hints Google Tips	3/3/19 11/28/18-	\$49.07/hr	6	\$294.42
Nachtigal		Murphy	and Hints	3/3/19			
Keenan	Susan	Murphy	Google Tips and Hints	11/28/18- 3/3/19	\$49.07/hr	6	\$294.42
Beauchamp	Tracy	Murphy	Google Tips and Hints	11/28/18- 3/3/19	\$49.07/hr	6	\$294.42
Bard	Lori	Setauket	Kindergarten Grade Level Meeting	11/28/18- 2/27/19	\$49.07/hr	10	\$490.70
Kane	Ilene	Setauket	Kindergarten Grade Level	11/28/18- 2/27/19	\$49.07/hr	10	\$490.70
Costanza	Caroline	Setauket	Meeting Kindergarten Grade Level	11/28/18- 2/27/19	\$49.07/hr	8	\$392.56
D'Onofrio	Adrienne	Setauket	Meeting Kindergarten Grade Level	11/28/18- 2/27/19	\$49.07/hr	8	\$392.56
Freeman	Kelly	Setauket	Meeting Kindergarten Grade Level	11/28/18- 2/27/19	\$49.07/hr	8	\$392.56
Gunning	Michelle	Setauket	Meeting Kindergarten	11/28/18-	\$49.07/hr	8	\$392.56
Guilling			Grade Level Meeting	2/27/19	ф - 7.07/Ш	o	ψ3/2.30
Levy	Danielle	Setauket	Kindergarten Grade Level Meeting	11/28/18- 2/27/19	\$49.07/hr	8	\$392.56
Prinzo	Edie	Setauket	Kindergarten Grade Level Meeting	11/28/18- 2/27/19	\$49.07/hr	8	\$392.56
Alexander	Dawn	Arrowhead	Self- Regulated Strategy Development (SRSD) for Writing Instruction	12/5/18- 4/24/19	\$49.07/hr	12	\$588.84
DeLorenzo	Heather	Arrowhead	Regulated Strategy Development (SRSD) for Writing Instruction	12/5/18- 4/24/19	\$49.07/hr	10	\$490.70
Castoro	Marisa	Arrowhead	Self- Regulated Strategy Development (SRSD) for Writing	12/5/18- 4/24/19	\$49.07/hr	10	\$490.70
Shook	Heather	Arrowhead	Instruction Self- Regulated Strategy Development (SRSD) for Writing Instruction	12/5/18- 4/24/19	\$49.07/hr	10	\$490.70
Tarabocchia	Christina	Arrowhead	Self- Regulated Strategy Development (SRSD) for Writing Instruction	12/5/18- 4/24/19	\$49.07/hr	10	\$490.70

West	Danielle	Arrowhead	Self- Regulated Strategy Development	12/5/18- 4/24/19	\$49.07/hr	10	\$490.70
Perotti	Jenna	Arrowhead	(SRSD) for Writing Instruction Self- Regulated Strategy Development	12/5/18- 4/24/19	\$49.07/hr	10	\$490.70
Cimini	Michelle	Setauket	(SRSD) for Writing Instruction Reading Units of Study for	12/13/201 8	\$49.07/hr	8	\$392.56
Johnson	Sue	Setauket	Fifth Grade Reading Units of Study for	12/13/201 8	\$49.07/hr	6	\$294.42
Austin	Pamela	Setauket	Fifth Grade Reading Units of Study for	12/13/201 8	\$49.07/hr	6	\$294.42
Lenza	Lauren	Setauket	Fifth Grade Reading Units of Study for Fifth Grade	12/13/201 8	\$49.07/hr	6	\$294.42
DaVanzo	Matt	Setauket	Reading Units of Study for Fifth Grade	12/13/201 8	\$49.07/hr	6	\$294.42
Mc- Naughton	Kayla	Setauket	Reading Units of Study for Fifth Grade	12/13/201 8	\$49.07/hr	6	\$294.42
Hegarty	Alex- andria	Setauket	Reading Units of Study for Fifth Grade	12/13/201 8	\$49.07/hr	6	\$294.42
Beck	Christine	Setauket	Reading Units of Study for Fifth Grade	12/13/201 8	\$49.07/hr	6	\$294.42
Colantuoni	Michelle	Setauket	Reading Units of Study for Fifth Grade	12/13/201 8	\$49.07/hr	6	\$294.42
Gustafson	Eric	Setauket	Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	10	\$490.70
Archer	Susan	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
Brady	Judith	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
Gallagher	Alex- andria	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
McGrath	Alyson	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
Schwarz	Gina	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
Theofield	Kristin	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
Wonderland	Kath- erine	Setauket	Engagement Fourth Grade Collaboration for Increased Student	1/9/19- 1/30/19	\$49.07/hr	8	\$392.56
Crispino	Lisa	Academy	Engagement AIS Services -	2018-	\$56.75/hr.	10	\$567.50
DiFede	Christine	Academy	English AIS Services -	2019 2018-	\$56.75/hr.	10	\$567.50
Hartman	Bill	Academy	Science AIS Services -	2019 2018-	\$56.75/hr.	10	\$567.50
Petruzzi	Jeanne	Academy	Social Studies AIS Services -	2018 ⁻ 2019 2018-	\$56.75/hr.	10	\$567.50
Zeidman		Academy	Math AIS Services -	2018- 2019 2018-	\$56.75/hr.	10	\$567.50
ZAMIIAII	Stacey	Acadelly	Special Ed	2018-	φ <i>5</i> (). / 3/ III.	10	φυυ1.30

EXTENSION OF

RETIREMENT BENEFITS

NameAssignmentEffective DateDate of HireBergson, LindaCoordinating Chairperson7/1/205/14/85

Guidance

Ms. Bergson's one-year retirement extension eligibility is pursuant to Article XV, E, of the contract between the Three Village Central School District and the Three Village School Administrators Association.

Taldone, Catherine Director of School and community 7/1/20 8/15/87

Partnerships, School Age Childcare

Ms. Taldone's one-year retirement extension eligibility is pursuant to Article XV, E, of the contract between the Three Village Central School District and the Three Village School Administrators Association.

Welch-Pollera, Executive Director of Instructiona
Kerrin Technology

Is Walch Pollars's one was ratirament extension aligibility is pursuant to Article

Ms. Welch-Pollera's one-year retirement extension eligibility is pursuant to Article XV, E, of the contract between the Three Village Central School District and the Three Village School Administrators Association

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective	Length of
		<u>Date</u>	<u>Service</u>
Griffith, Traci	Special Education Aide/	12/18/2018	1 yr. & 3 mos.
	Arrowhead Elementary School		
Larkin, Kelly	Child Care Assistant/ Mount	1/15/2019	2 mos.
	Elementary School		
O'Donnell, Michael	Guard/District-wide	12/13/2018	4 yrs. & 6 mos.
Toto, Jennifer	Special Education Aide/	1/11/2019	2 yrs. & 9 mos.
	Gelinas Jr. High School		

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Food Service Worker

Lennon, Cheryl P/T Food Service Worker (4 hours/day)

Nassakeag Elementary School

Replacing: Maureen Scopo (transferred to Minnesauke)

Related to current employee: No Salary: \$15.32/hr (Step 1/Level 1) Effective: January 17, 2019

** This is a correction to the 12/12/18 board agenda. Ms. Lennon will be working at Nassakeag, not Minnesauke.

Monitors/Special Education Aides

Lucido, Barbara School Monitor (3.5 hours/day)

Arrowhead Elementary School

New Position

Related to current employee: No Salary: \$23.27/hr (Step 15/Level 3) Stipend: \$2.50/hr (lead monitor) Effective: January 2, 2019

^{**}This is a correction to the board approval on 12/12/18. Ms. Lucido's stipend for lead monitor was left off and Ms. Lucido did not return until 1/2/19. Fingerprint clearance has been received and is on file.

McDowell, Stephanie Special Education Aide (5.75 hours/day)

Setauket Elementary School Replacing Hiltrud Strano (Resigned)

Related to current employee: No Salary: \$14.42/hr (Step 1/Level 10)

Stipend: \$700 (prorated) Effective: December 19, 2018

Ms. McDowell was approved for emergency appointment by Ms. Pedisich. Fingerprint clearance has been received and is on file.

School-Age Child Care (SACC)

Phillips, Antonietta Child Care Assistant (max 14 hours/week)

Mount Elementary School Replacing: Kelly Larkin

Salary: \$14.79 hourly (Step 1/Level 1)

Effective: January 17, 2019

Ms. Phillips is currently a Food Service Worker at Mount Elementary School. Fingerprint clearance has been received and is on file.

CHANGES OF STATUS

Clerical

Miller, Linda From: 12 month Senior Office Assistant (Step 10/Level 3)

To: 12 month Principal Office Assistant (Step 7/Level 6)

Office of Pupil Personnel Services Annual Salary: \$55,198 (prorated) Effective: December 26, 2018

Ms. Miller is being recommended for promotion to the title of Principal Office Assistant in the Office of Pupil Personnel Services.

Padrazo, Frances From: 12 month Senior Office Assistant (Step 15/Level 3)

To: 12 month Principal Office Assistant (Step 15/Level 6)

Office of Human Resources

Replacing: Peggy Koepplin (promotion) Annual Salary: \$77,722 (prorated) Effective: January 14, 2019

Ms. Padrazo is being recommended for promotion to the title of Principal Office Assistant in the Office of Human Resources.

Custodial

Luhrs, David From: Maintenance Mechanic II (Step 12/Level 11)

To: Maintenance Mechanic III (Step 12/Level 7)

New Position

Annual Salary: \$84,240 (prorated) Effective: January 17, 2019

Mr. Luhrs is being promoted to Maintenance Mechanic III with certification in HVAC.

Monitors/Special Education Aides

Gutman, Melissa From: Special Education Aide (Step 2/Level 7)

Laurel Hill

To: Special Education Aide (Step 2/Level 9)

Stipend: \$700 (prorated) Effective: January 2, 2019

Larkin, Kelly From: School Monitor (Step 10/Level 3)

Arrowhead Elementary School

To: Special Education Aide (Step 10/Level 11)

Salary: \$16.64/hr Stipend \$700 (prorated) Effective: January 2, 2019

Ms. Larkin was approved for emergency appointment by Ms. Pedisich.

Guards

Tucci, Anthony From: Guard

District-wide

To: Security Supervisor

District-wide Salary: \$23.00/hr

Stipend: \$5,000 annually (prorated) Effective: January 17, 2019

Mr. Tucci is currently a Guard in the district. He is being appointed to Security Supervisor.

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

Bostwick, Justine Salary - \$13.00/hr

Effective 1/17/19

Ms. Bostwick is currently a substitute monitor/special education aide in the District. Fingerprint clearance has been received and is on file.

Monitors/Special Education Aides

Chapman, Dean Salary - \$13.00/hr

Effective: 1/17/19

Mr. Chapman is the son of Craig Chapman, a PE teacher at Setauket Elementary. Fingerprint clearance has been received and is on file. This appointment is contingent on background clearance.

Gallo, Alexandra Salary - \$13.00/hr

Effective: 12/17/18

Ms. Gallo was approved for emergency appointment by Ms. Pedisich. Ms. Gallo is the daughter of Donna Hurley, a teacher at Arrowhead Elementary School. Fingerprint clearance has been received and is on file.

Lorenzen, Hannah Salary - \$13.00/hr

Effective: 12/18/18

Ms. Lorenzen was approved for emergency appointment by Ms. Pedisich. Ms. Lorenzen is the daughter of Jennifer Lorenzen, a TA at Gelinas Jr. High School. Fingerprint clearance has been received and is on file.

Monitors/Special Education Aides

Mannix, Karalyn Salary - \$13.00/hr

Effective: 1/17/19

Fingerprint clearance has been received and is on file.

McInerney, Bryce Salary - \$13.00/hr

Effective: 12/18/18

Mr. McInerney is the son of Alecia McInerney, a TA at Ward Melville High School.

Fingerprint clearance has been received and is on file.

Rodriguez, Diana Salary - \$13.00/hr

Effective: 1/17/19

Fingerprint clearance has been received and is on file.

Rosen, Lori Salary – \$13.00/hr

Effective: 1/17/2019

Fingerprint clearance has been received and is on file.

APPOINTMENTS OF RETURNING COMMUNITY SWIM PROGRAM EMPLOYEES

Last Name	First Name	Building	<u>Assignment</u>	Effective	<u>Hourly</u>
					Rate
Goldhaber	Hannah	WMHS	Lifeguard	11/1/18	\$13.00

APPOINTMENTS OF SUMMER RECREATION STAFF 2019

<u>Last</u>	<u>First</u> Name	Building	<u>Position</u>	Effective	Rate	Assignment
<u>Name</u> Shay	Stephanie	WMHS	Summer Recreation Camp Supervisor	Summer 2019	\$30/hr	Full/Half Day

AMENDMENT/REVISION

Guard

Mallins, Robert Status: Guard (In Building Security Supervisor)

Amendment/Revision: Effective date Date of BOE Approval: August 22, 2018

Mr. Mallins was BOE approved as In Building Security Supervisor with a prorated stipend and an effective date of 8/23/18. His effective date is being corrected to 7/1/18 and the annual stipend should not be prorated.

On motion by Mr. Kornreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, Sub-Committee and

and Accommodation 504 Plan Meetings of: October 29, November 5, 19, 20, 27, 29, 30, December 3, 4, 5, 6, 7, 9, 10, 11, 12, 13, 14, 17, 18, 19, 20, 21, 2018, January 2, 3, 4 and 7, 2019 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: December 4, 11, 13, 18, 2018, January 2 and 3,

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST

2019

There were no Informational Items of Interest. $\,$

PUBLIC PARTICIPATION

Sotiria Everett spoke regarding sustainability and wellness.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote to adjourn the meeting at 8:28 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk